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CHEMISTRY

(Honours Core)
Paper : CHE-HC-6016
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Full Marks : 60
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The figures in the margin indicate
full marks for the questions.

1. Answer the following: 1x7=7
(a) What are fluxional organometallic
compounds ?

(b) The most suitable route to prepare the
trans- isomer of [PtClQ(NHa)(PPl'ls)] is:

(i) [PtCl)? with PPh, followed by
reaction with NHj

(i) [PtClL)? with NHj followed by
reaction with PPhy
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Answer any three of the following :
5x3=15

Discuss the dissociative nucleophile
substitution reaction in the light of CFT.
(b) Discuss the methods of removal of
fluoride and phosphate jons during the

qualitative analysis of salt mixtures.
2Ya+2%2=5

(@)

anism of inner

Explain the mech
tion of coordination

sphere redox reac

compounds.
le mechanism for the

(d) Write the plausib
catalytic hydrogenation of alkenes using
CIRh(PPh3) 3-

s catalyst,
pe of each step.

in M-CO
e used

(c)

Wwilkinson

Identify the reaction ty
(e) Discuss the bonding
fragments. How, IR spectra can b
to distinguish between terminal and
bridging CO groups? 3+2=5

three of the following :
10%x3=30

4. Answer any
5x2=10

(@) Write notes on the following :
g in methyl-

(i) Multicenter bondin
lithium.

(ii) Stepwise and overall formation

constants of 2 reaction.
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- () The compoung W (n5-C, H;)((H)(CO),) %
reacts with C3Hg to give three products |
A, B and C Identify and draw the |
structure of compounds A, B and C |

Each compound obeys the 18-electron
rule.

(c) For the following Species, calculate the
number of electrons in the valance
shell, give their I€asonable structures
and comment on their relative
stabilities, 2%x4=10

6 (°-c,n, ),Pe
i) [c,(co) 2Fe],
(i)  Mn, (Co)w

(iv) Fe, (co),

(d) Discuss the Preparation and structure
of ferrocene. Explain the mechanism of
acetylation reaction. 2V2+2%+5=10

(e) On the basis of VBT, how will you
€xplain lability ang inertness of
ansition metg] complexes ? Discuss
OW the following factors affect the
lability of complex : 4+(2x3)=10

(i) Gepme.try of the complex
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